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ELECTRON CONFIGURATIONS
1.  What do the electron configurations of the noble gas elements have in common?

2.The element sulfur has an electron configuration of:  1s22s22p63s23p4

a.  What does the superscript 6 refer to?


b.  What does the letter s refer to?


c.  What does the coefficient 3 refer to?

3.  Write the complete electron configurations for the following elements:

	Element
	Electron Configuration

	Li
	

	Fluorine
	

	P
	

	Argon
	

	Ni
	

	Br
	

	Barium
	

	Gold
	

	Pb
	


4.  Draw the orbital diagrams for the following elements:


a.  Oxygen:


b.  Potassium:


c.  Chromium:

5.  Write the noble gas configurations for the following elements:


a.  Aluminum:__________________________

b.  Fe:___________________________


c.  Iodine:____________________________


6.  What elements are represented by the following electron configurations?


a.  1s22s22p63s23p64s23d10
___________________________________

b.  1s22s2



________________________

c.  [Ar] 4s23d7


________________________

d.  [Rn] 7s26d15f2


_________________________

